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The first part of this page is a summary that can help you do the exercise.

The surface area of an open ended cylinder with radius r and height h is
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Exercise:

Totolospi is a traditional game for two to four players invented by the Hopi people (native Americans). It is played on a board similar to that shown below, using counters (small flat cylinders, one for each player) and a wooden dowel (a half cylinder of radius 1 and of height 3).

The rules of Totolospi:

1. Each player starts by placing their counter on one of the black circles.

2. The aim is to reach (or go beyond) the black circle on the opposite side of the board.

3. Players take it in turns to have a go. 

4. When it is your turn, you throw the dowel. 

5. If the dowel lands on one of the flat sides then you move your counter one space.

6. If the dowel lands on the rounded side, then you move your counter two spaces.
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Adapted from

Human Rights in the Curriculum : Mathematics

by Amnesty International, 2004

1. What is the area of the rounded side of the dowel?  

2. Compute the probability
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that the dowel falls on the rounded side. 

3. Compute the probability
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that the dowel falls on one of the flat sides. 

4. What is the probability that a player will need exactly four throws to get to the opposite side of the board?  

5. What is the probability that a player will need only two throws to get to the opposite side of the board?  

6. What is the probability that a player will need exactly three throws to get to the opposite side of the board?  

7. Could you change the shape and/or size of the dowel so that the probability of moving one space is
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and the probability of moving two spaces is
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